
Timely Practice standardform strand 2 new learning questions

1. (a) Write 5.1× 10−2 as an ordinary number

(b) Write 6.3× 10−3 as an ordinary number

(c) Write 6.09× 10−1 as an ordinary number

(d) Write 5.26× 10−4 as an ordinary number

(e) Write 1.07× 10−2 as an ordinary number

(f) Write 3.58× 10−3 as an ordinary number

(g) Write 3.125× 10−1 as an ordinary number

(h) Write 8.7× 10−2 as an ordinary number

Answers: a) 0.051 b) 0.0063 c) 0.609 d) 0.000 526 e) 0.010 7

f) 0.003 58 g) 0.3125 h) 0.087

timelypractice.com NO calculator © SRS Learning Limited


